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General Awareness

i. Shivpuri National Park of Madhya Pradesh is important for

(a) Tiger & Elephant (b) Wild Buffalo
{c) Leopards & Cheetas (d) Birds
2. Match the following:
Name of the Confluence River merging with Alakananda
A. Vishnu Prayag 1. Bhagirathi
B. Karna Prayag 2. Mandakini
C. Rudra Prayag 3. Pindar
D. Deva Prayag 4. Dhauli Ganga
a) A-1, B-2, C-3, D-4 b) A-1,B-3,C-2,D-4
¢) A-4, B-2,C-3, D-1 d) A-4, B-3, C-2, D-1
3. Who deciphered the Brahmi Script?
(a) Alexander Cunningham (b) John Marshal
(c) James Prinsep e (d) R D Banerji

4. Which dance form has MATKA as its most important element in which the dancer
dances on a bronze plate?

(a) Kathakali (b) Kalbelia
(c¢) Kuchipudi (d) Bharathanatyam

5. Right to Education is provided under which article of the constitution®

(a) 20 (b)21A (c) 22 (d) 23
6. What is the age prescribed for an Indian citizen to be the President of India? (in years)
(a) 35 (b) 25 (c) 40 (d) 30
7. What was the real name of Chatrapati Shivaji Maharaj?
(a) Shivaji Bhosle (b) Shivaji Bhonsle
(c) Shivaji Shaw Bhosle (d) Shivaji Shinde
8. In which year was Banaras Hindu University founded?
(a) 1912 (b) 1915

(c) 1916 (d) 1914
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HHATA STl

1. W 939 %1 Ragh miw sam feas u ey

(a) A9 3T =eh (b) S HE
(c) dgT 3R =i (d) w&fi
2. frafsfeaa =1 o™ 1.
TIH FT W FHAS & 9 fAFH 7
A. Taeu) vm 1. arfRef
B. U1 YN 2. HIIHAT
C. %g 94 3. fU=x
D. 39 9a0 4. HI T

a) A-1, B-2, C-3, D4
b) A-1, B-3, C-2, D-4
c) A-4, B-2, C-3, D-1
d) A-4, B-3, C-2, D-1

3. wTel Ty #1 e feee wer am

(a) SIS HiaH (b) S AR
(¢) 771 fU=qg (d) .=, sl
4. %8 T &9 # AeH 99 WEAY 7 & Rred 79w wie 6 a9 ® 99 w5 B
(a) FYFS OEIREIRE
() FugS (d) ¥WaTETy
5. Rian w1 SReR WRum ¥ fFg agedt ¥ e wWW P
(a) 20 (b) 21A (c) 22 (d) 23
6. T T ¥ Row o Wty i % R Praifa oy v e @ )
(a) 35 (b) 25 (c) 40 (d) 30

7. DA FREHH AT F1 €S A9 0 941

(a) RrEmsht Hras (b) RRramsit Higes

(c) Rt =1t Hraes (d) Rt &g
8. IR TRy Frafrenea i Ty fva a9 § 6 1 e

(a) 1912 (b) 1915

(c) 1916 (d) 1914
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9. Which of the following is the birth place of great grammarian Panini?

10.

11.

12.

13.

14.

15.

16.

17.

(a) Purushapura (b) Gujranwala
(c) Vazirganj (d) Shalatura
‘Lumbini’ is in which country?
(a) Nepal (b) Bhutan
(c) India (d) China
Which of the following statement is NOT correct regarding G20?
a) G20 summits are attended by the finance ministers and Central Bank Governors of the
member countries only '
b) India never hosted any G20 summit
¢) [ts main aim is to eliminate poverty from the world
d) India took over the Presidency of G20 from 1-12-2022 to 30-11-2023
New building of Indian Parliament was opened on
(a) 28-5-2023 (b) 27-5-2023 (c) 29-5-2023 (d) None
What is the deadline set to exchange the 2000 rupee notes withdrawn from
circulation by the RBI?
(a) 23-5-2023 (b) 30-9-2023 () 30-11-2023 (d) None
What is NITI Aayog?
a) National Institution of Thernio-economics of India Aayog
b) New Institution for Transforming of India Aayog
¢) National Industry for Transforming of India Aayog
d) National Institution for Transforming India Aayog
Where is the Head Quarter of Central institute of Indian Languages?
(a) Chennai (b) Mysore
(¢ Thiruvananthapuram (d) Delhi
Which Central Ministry in association with ISRO developed the Project Monitoring
Mobile Application?
a) Ministry of Development of Northeast Region
b) Ministry of Science and Technology
¢) Ministry of Electronics and IT
d) Ministry of Rural Development
What is the core objective of World Bank supported STRIVE Project in India?

a) Elimination of Malaria

b) Elimination of HIV/AIDS

¢) Skill development

d) Rural Infrastructural Development

June 2023 Page 4 of 28



9. W FATHI QIO HT 0 T4 (orSrad § ¥ S 71 41 2

(a) g (b) IS

(c) FEoTa (d) TS
10. SRfr R A &2

(a) 9o (b) 2

(c) g (d) &=

11. Prafsfa § ¥ $19 W1 %49 G20 ¥ I & 98 78 ¥

2) G20 forer @il i e awer i % Fr A0 ol FE i & T A
foan s

b) wied 7 F ft foret G20 Rraw w oA 1 AsEr T8

¢) IEH HEA IxTF A G NqH 1 FH FE

d) WRA 9 1-12-2022 9 30-11-2023 TF G20 F A&l U5 HT HIEIN T80 fham

12. TREY §6E F1 T91 A9 F9 @IST T4 A7 ?

(a) 28-5-2023 (b) 27-5-2023 (c) 29-5-2023 (d) FB t 7&

13. AW GIT 99 0 T 2000 F et 1 9254 F (Su Huita q9g G v T2

(a) 23-5-2023 (b) 30-9-2023 (¢) 30-11-2023 (d) 9 i &l

14. Hifd @R (NITI Aayog) ¥ & ?

a) WG JHI-NYHA GEIF A

b) TE ®UGWI Fd 91 GEAF ATANT
¢) TP R ®UGLOT IAWT AEA

d) Ut wE aiEas e ST

15. FEA AT W HEH FT GEATST FE 2

(a) 3§ (b) AgE
- (¢) faEasagm (d) feaht
16. fF8 @ 79T A T ¥ G | A Pl dEes sEwEm w1 el fe ¥
(a) qETR & fasr wared (b) A= 3 wrfiEh waeg
(c) 3R 3R 3 Warea (@) rfivr fwra wErea
17. wia ¥ Ry % gwfde s e s s k| g 2
a) WA F IHSA
b) TEINRH/TGH T ITYAEA
c) mﬁm

d) ariur SEEEARHS ™
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18. Which of the following is NOT a member of SAARC ?

(a) Nepal (b) Bangladesh
(c) Afghanistan (d) Myanmar

19. Which one is NOT the fundamental pillars/principles of National Education Policy
2026?

(a) Access (b) Accountability
(¢) Quality (d) Proximity

20. What is the theme of the tableau at the Republic Day 2022 by the Ministry of

Education?
(a) Vedas to Modernity (b) Vedas to Metaverse
(¢) Vedas to Human resources (d) None

Numerical Ability

21. ; of 2 of 64% of > of 900 =?
(a) 89 (b) 59 (©) 79 (d) 189

1 2 3
L ey s 22
22.34+67+. 1328

2 4 3 5

23. The average age of 80 boys was 20 years. The average age of 20 of them was 22 years
and that of another 20 was 24 years. Find the average age of the remaining boys.

(a) 17 Years (b) 19 years (c) 15 Years (d) 21 Years

24. “A” speaks truth in 75% cases and “B” in 80% cases. In what percentage of cases are
they likely to contradict each other when narrating the same incident?

(a) 35 (b) 30 ()25 (d) 20

25. A milk man bought 15 litres of milk and mixed 3 litres of water in it. If the price per
litre of the mixture is Rs. 22, what is the cost of milk per litre? (In rupees)

(a) 28 (b) 26.40 (c) 24 (d) 22

26. A trader gives an additional concession of 35% on an article which already got
discounted by 20% on the market price. If the buyer pays an amount of Rs.1300 for
an article, then the market price is (in rupces)

(a) 2200 (b) 2500 (c) 2600 (d) 2700
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18. fruffaa # | = o1% =1 7eeg =6 &

(a) TS (b) FTHEI
(c) FAHMEE (d) HIER
19. T Rign ARy 2020 % goum wW/MAgia #9 @ 6
(a) sfrm (b) SETIEEl
(¢) T[OTaT (d) e
20. fan W=eg gro vEs REw 2022 § @id w1 A w2
(a) 9] ¥ yfrwar 9% (b) I/ § HeEg
(c) A GOty % fou ag (d) T3 ft T8
HEHE a0

21. ; of 2 of 64% of > of 900 =?

(a) 89 (b) 59 (c) 79 (d) 189

1 2 3

22. 3z+ 6;+ 2= 132—5
2 4 3 5
(a) 3; (b) 3; (c) 3; (d) 3;

23. 80 FTH FT ArFA Y 20 T4 41| ITH ¥ 20 F WG 9F 22 T A AW I 20 T}
a2y 24 T4 | AW FTH F AW g T HRA |

(@) 17 99 (b) 19 9§ (c) 15 9§ (d) 21 =9

24. 75% WS § A 3T 80% WS # B ¥ Aeq ¥, fraw vy Amel § 4w & weA
F U F TN TGN ¥ Rl 9 § S wn B

(a) 35 (b) 30 (c) 25 (d) 20

25. TF T A1 15 e g0 @ ol s6H 3 dew aeh Pror 3. AR Ruam o sR S
T 22 T &, A R e gy B w70 R @@ H

(a) 28 (b) 26.40 (c) 24 (d) 22

26. TF A9 IW T6 W 35% A Affew Rarra Iar § R 123 ¥ § T91 199 W 20% 6
72 e oft ¥ | aiy wien fedt wvg % R 1300 w9 €t TR %1 YW T §, @ TR
T (ERH) ¥ :

(a) 2200 (b) 2500 (c) 2600 (d) 2700
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27. The difference between compeund interest compounded every six months and simple
interest after two years is Rs. 248 10. The rate of interest is 10%. Find the sum. (In rupees)

(a) 12000 (b) 14000 (¢) 1600 (d) 18000

28. Aand B cando a picce of work in 24 and 30 days respectively. Both started the work
and worked for 6 days. Then B left and C joined. A & C completed the remaining
work in 11 days. In how many days C alone can do the work?

(a) 80 (b) 100 (¢) 130 (d) None

29. A truck moves at the speed of 96k per hour after repairing. Its speed before
repairing is 80km per hour. It covers “X” kilometres distance in 8 hours after
repairing. How much it takes to cover 4X kilometres distance before repairing.

(a) 48 (b) 40 (c) 36 (d) 28
30. The area of a triangle is 615 sq. Meters. If one of its sides is 123 meters, find the length
of the perpendicular dronped on that side from opposite vertex. (In metres)
(a) 15 (b) 12 (c) 10 (d) None
31. The LCM of two numbers is 14560 and their HCF is 13. One of the numbers is 416.
What is the other number?

(a) 355 (b) 455 (c) 655 (d) 208

32.(0.027)? x (0.09)2+ (0.3)°= (0.3)”

(a) 4 (b)5 (c)6 (d)3
Study the following information and answer the following questions (33-36):
Staff Students
Department
Number Male: female Number Male: female
Sanskrit 120 13:i1 1800 7:11
Veda 80 9:7 1500 7:8
Upanishad 150 17:13 | 2200 9:13
Vyakarana 90 4:5 600 1:5
Sahitya 140 4:3 1600 17:15
Jyotisha 70 18:17 1200 9:11

33. What is the ratio of total number of staff in Sanskrit, Veda, to the total number of
students in Upanishads and Vyakarana?

(a) 14:1 (b) 1:14 (c) 1:12 (d) 12:1
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27 TI% BT HEM H Ty AW AR I WIS F 1% AR AR F 919 F1 @0 248.10 FW
2| s $1 W 10% & | AR T W | (79 #H)

(a) 12000 (b) 14000 (c) 1600 (d) 18000

28. A ¥ B U% %M B FAI: 24 AN 30 R § 0 9% § | F1 7 w9 & FFa 217 6 FE
I M I RB I M AR c e A ™ IA MR CATTFAF 11 R § @
Foic IR R FA R A a2

(a) 80 (b) 100 (c) 130 (d) 9 W =0
29. HGHA ¥ T «F g% 90 fEel afy 9 Y 7y § To @ ¥ | 7oA ¥ T2 THE afd 80 Fee

e Wer ¥ | FeHa ¥ Wg 9% x¢ feonfie i gl 8 R § aw vl ¥ | W ¥ wey ax
frerie $i gl 71 v # fean www s R 2

(a) 48 (b) 40 (c) 36 (d) 28

30. T% BRIS #1 §9%® 615 T He ¥ | AR T wF Yo 123 Hiex B, o Rada A & 3w
TF v 0 Saag 6 F98 T fied | @iz #)
(a) 15 (b) 12 (©) 10 (d) O Mt &

31. q WEATA F1 GHHIUH 14560 ¥ R ITH THATE 13 ¥ | T N uF GEA 416 ¥ | FEA
w2
(a) 355 (b) 455 (c) 655 (d) 208

32. (0.027)*X (0.09)* + (0.3)° = (0.3)°
(a) 4 . (5 (c) 6 (d 3

e Sl #1 s SRR ik Fefsfem w8l ¥ S aRR (33-36)

©E BN
e & qeu: g Hqem geu: TSt
q&Fd 120 13:11 1800 7:11
K 80 9:7 1500 7:8
Iufeg 150 17:13 2200 | 9:13
HTHT 90 4:5 600 7:5
i 140 4:3 1600 17:15
Siifaw 70 18:17 1200 9:11

33 ﬁ?ﬁ,éﬁﬁ%ﬁmﬁzﬁﬁwmaﬁtmﬁwﬁaﬁtmﬁaﬁiﬁwmmm
™ ?

(a) 14:1 ' (b) 1:14 (c) 1:12 (d 121
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34. The total number of male staff in Vyakarana and Jyotisha is what % of the total staff
in these two departments?

(a) 44.5% (b) 45.7% (c) 47.5% (d) 45%
35. Total number of female students in Upanishads dept is what % more than the male
students in the same Department

(a) 44.45% (b) 40.76% (c) 40.75% (d) None

36. Find the number of female students in Jyotisha Department
(a) 850 (b) 660 (c) 150 (d) 750

37-40 questions.

The following pie chart shows the percentage number of total candidates passcd in

examination from different divisions of Sanskrit in 2022. The graph shows the percentage
of the fresh candidates who passed in 2023.

" PIE CHART

A

) 28%
B

. 16%

g
Y

A B C D E F

37. In 2022, the total passed candidates from A, B, C, D, E and F divisions were 650. The

percentage of non-fresher candidates from A division who passed the examination in 2022 is

(a) 95% (b) 86% (c) 80% (d) 70%
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34, SATHEIU 3R TN H oY FHAAMNE $1 FS G 79 31 T § T FH0ET F1 Roaan
qiwE ® 2

(a) 44.5% (b) 45.7% (c) 47.5% (d) 45%

35. SuYE fopTm # wiver o=l $it 3o e I o # oW sEl i g | fead siE
A ¥ 2

(a) 44.45% (b) 40.76% (c) 40.75% (d) 2 H 81

36. SR o | sEnet €1 e g fiRe |

(a) 850 (b) 660 (c) 150 (d) 750

37-40
mﬂwzozzﬁm%%w&ﬁmﬁmwmﬁﬁm
WA F T 2 | WE 2023 § I qU IHAEART ¥ 9fTa Y g & |

PIE CHART

30
25
20
15
10

A B C D E F

37. 2022 ¥, @, &, W, &, T R wF K= ¥ T IO SHAAR 650 A | 2022 F gdan
I FA T € i F IRER SRfiearl w1 awa w2

(a) 95% (b) 86% (c) 80% (d) 70%
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38. In 2022, the total number of freshers from D division was 160. How many non-fresher
candidates passed the examination from E division

(a) 1430 (b) 1240 (c) 1420 (d) 1440

39. Total number of candidates passed from B division was 112. What is the ratio between
number of freshers from division A and that of non-freshers from division C.

(a) 39:65 (b) 38:65 (c) 43:65 (d)41:65

40. Nen - freshers candidates from B division were 60. How many candidates passed the
examination from all divisions

(a) 600 (b) 400 (c) 500 (d) 350

Reasoning Ability

41-42
i.  Dis the sister of E.
ii. A is the father of D.
iti.  Fis the son of E.
iv.  C is the maternal grandfather of V.,
V. A does not have married daughter.

41. How ‘D’ is related to ‘F’?
(a) Uncle (b) Aunt (c) Mother (d) Nephew

42. If ‘B’ is married to ‘E’, then how ‘B’ is related to ‘A’?
(a) Grandson (b) Son-in-Law (c) Son (d) Daughter-in-Law

Read the following information carcfully and answer the questions. (43-46)

There are six cities — L, M, N, O, ? and Q. L is not a hill station. M and P are not historical
Places. O is not an Industrial city. L and O are not historical places. L and M are not alike.

43. Which two cities are industrial centres?
(a)L and M (b) Pand Q (c)Nand O (d)Mand Q

44. Which two cities are historical places?
(aLand M (b) M and Q (c)Nand Q (d)Mand P

45. Which two cities are hill stations?
(a) Land M (b)Nand L (c)Mand O (d) Land Q
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38. 2022 ¥, ¥ Rfisr A I £ TS W= 160 o | T EwE ¥ B W-ER IwfigEnt 3
qlan # 30 Fi 2
(a) 1430 (b) 1240 (c) 1420 (d) 1440

39. o fdrem & 3ol Swfigarl i 3o dEw 112 f | Rdew v ¥ by F1 g@n 4 Rdem
i | T T GEA F G F AU T2

(a) 39:65 (b) 38:65 (c) 43:65 (d) 41:65
40. Fi fEdfiem A WFT F IEER 60 7 | Wit RefisAl ¥ feaw swfigari ¥ whan & s<hvt 6
(a) 600 (b) 400 (¢) 500 (d) 350
% g
41-42
ii D, E®ITEAEI
ii. A, D% g

iii. F,E® &I
iv. C, VH AR
V. Aﬁﬁaﬁﬂaﬁqﬁ%l

41. D, F § f&| R waftm ¥

(a) ==l (b) 9= (c) |TaT (d) 9
42. 9 B %1 fA@E E A g0 ¢, A1 B, A ¥ Few wow el B
(a) TraT (b) IR (c) s (d) T

frafsfem el # SEgEs 1§ o w3 ¥ I | (43-46)

BEWCE-L MN,O P AXNQI L 0% ke ©I4 78 & | M 3R P e =
THEl O A WA I L R 0 Womis A @ £ 1 L 3R M % 39
T E

43. ¥ ¥ q TR AT 7 B

(a) L 3R M (b) P 3R Q (c) N 3R O (d) M 3R Q
44. 3 ¥ A TR Wrelew e

(a) L 3R M (b) M 3R Q (c) N 3R Q (d) M 3R P
45. ¥ ¥ q TR fiw wwA

(@ L 3 M (b) N 3R L (©) M 3R 0 (d) L 3R Q
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46. Which city is a hill station and industrial centre, but not a historical place?
(a) P () Q ()L (i) M

47. ‘Delicious’ is related to taste. In the same way which word is related to ‘Melody’?
(a) Memory (b) Highness (¢) Veice (d) Speak

48. Pick odd one out
(a) Raghuvamsham (b) Naishadhiyacharitam
(¢) Mcghadutam (d) Kiratarjuniyam

49. Pick the odd man out
(a) S Radhakrishnan (b) Inder Kumar Gujral
(c) Lal Bahadur Shastri (d) Narendra Modi

50. Given Data:

Statements

l. Some boxes are trees
2. Some trees are horses.
3. All horses are fruits.

Conclusions:
1. Some fruits are boxes 1i. Some fruits are trees
iii. Some horses are boxes iv. No fruit is a box
Options:

a) None follows

b) Only either I1 or IV follows

¢) Only either I or IV and II follows
d) Only either I or III and IV follows

S1. The following are the qualifications for recruitment of a teacher.

i.  Graduate in any discipline with minimum 67% marks
il.  Age between 28 to 33 years as on 31-5-2023.
iii. PG degree or 3-year Diploma or B.Ed. with 55% marks
iv.  Three years’ experience in teaching ;
v.  Beready to join one year probation

Sharma is a B.Sc. graduate with 70% marks. He completed M.Sc. His age is 29 years as on
31-5-2023. He has three years’ experience as a Mathematics Teacher. He is ready to join

one year probation.

Please study the details and refer his case to the selection committee if he fulfils the required
qualifications; refer his case to the principal if he is only a graduate; refer his case to the
vice-principal if he is over aged; reject his case if he does not fulfil the required

qualifications.
Now decide whether his case is to be referred to/ rejected.

(a) Vice Principal (b) Principal
(C) Selection Committee (d) Rejected
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46. F9 |1 e UF f¥S WIA AR AT &3 &, e uF dawiae w0 T8 § 2
(a) @I (b) H (c) T% (d) 7A

47. Deliciousmﬁﬁiﬁ’?ﬁ%lWW%NWMeIodyﬁﬁﬁﬁﬁ%?
(a) Memory (b) Highness (c) voice (d) speak

48. T H | % W Hal4q w1 g

CYRCEEIL (b) usigafeay (c) HEgTH (d) fraasfag
49. 3 § § I et =atE = IR
(a) TE THFWH (b) 35 FAR [EIX
(c) BTS FEIgL Tmalt (d) x5 A
50. fau 7w e
FU .
1. $9 999 U3 ¥ | 2. 9 Ug A ¥ | 3. @ff °1 % ¥ |
e
i IO %o I 3 ii. T9 5O Ug &
iii. 9 912 999 ¥ iv. B F& T 9199 T8 2
EE T '
(a) F1E Wt gawr 78 F@r B (b) F9& II a1 IV TG &4l &
(c) FAS 1 1 IV 3R 11 TG0 FIaT & (d) 9% [ 91 [ 3T IV IGT07 FaT 2

51. g N Wt ¥ v Prafefm Qg ¥

i.  TgAAH 67% @i % iy fFdt off v # @aw

ii. 315-2023 F 28 ¥ 33 I F fiw g |

iii. 55% 3 & @y fist fFf =1 3 =iy Ry =1 Fue
iv. fRewr # &9 9 &1 o

v. UF 9@ Hi qidian § sEmee & e qend

A 70% HI F WY B.Sc WH € | IWA M.Sc T BFAT ¥ | 31-5-2023 F1 T I7 29
TR ITF T MR Rrew F w0 A f\ we W o ¥ 9w @ 6 aidien #
FEAEYT F T FAR R |

PO 201 1 A FE R AR 98 ETEE AT B QW FE@ § A IGF AGS B w9
il ® wqd FE AR |/ F9@ Was ¢ @ SuF AW F GiRue B weq w5 9 9
Ao I H § A SEF AWS B ITTAAEE B TG B A T AETAF A B
T FEA ¥ o GF AHS B rEER W D |

I 9T W % I9F e F fhed g weqd fRen S R A sdlie R S #
(a) 39 "= (b) W=
(c) =g giufa (d) 3r&EiHd
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. 52. How many triangles are there in the following figure?

// N, / / \
£ x S
7 \\,z/\\‘ /o
(a) 29 (b) 23 (c) 27 (d) 30

53. A tailor had a number of shirt pieces to cut from a roll of fabric. He cut each roll of

equal length into 10 pieces. He cut at the rate of 45 cuts per minute. How many rolls
would be cut in 24 minutes?

(a) 30 (b) 58 (c) 129 (d) 150

54. What number should com:e next in the series 36, 34, 30, 28, 24, ...?
(a) 20 (b) 22 (c)23 (d) 26

55. Three different positions of a dice are shown below. Which number appears on the
face opposite the number 6?

3 5 6

(a) 4 (b) 5 (©1 (d)3

56. Which figure is not similar to other figures?

Bl xx © X X X DIl xxxx
¢ 5 avi X X X X X XX X XX
X X X X X X X X X
(a) (b) (c) (d)

57. Vandana remembers that her father’s birthday is between 13" and 16" of June. Her

brother remembers that their father’s birthday is between 14" and 18" of June. On
which day is their father’s birthday?

(a) 14 (b) 16 ()15 (d) 18

June 2023 Page 16 of 28



52. Prafxfaa f # fead B ¥ 2

s
//
f \
/ / /
el

(a) 29 (b) 23 (c) 27 (d) 30

53. U% ol & 0 %9 ¥ UG & | 39 4 ¥ 709 FRA1 2 | T4 GHIE S918 F 54T AS 9
10 THE § H121 | 24 9 Az 45 w2 it W A T4 A | 24 B # fFaw T wR
ATEN?
(a) 30 (d) 150

(b) 58 (c) 120

54. f@ST # AR B d e A iR - 36, 34, 30, 28, 24, ... ?

(c) 23 (d) 26

(a) 20 (b) 22

55. I $ 99 Ho-2e Rl %1 i Reamn = & | 9 6 ¥ Avim S e
He fra & 22

3 5 6

(a) 4 (b) 5 (91 (d) 3

56. ®19 |1 A o= R S 98 &2

(A) (B) (9] ; )
XXXXX XX XXX XXXX
XXXXX +++++ XXXX X XXXXX
XXXXX XX XXX XXXX
(@ (b) (©) (d)

5. T BRI TR R e R 13 A6 i F A Isar i B A § f%
% e w1 Tl 14 /18 I ¥ 9 # % | 39% Rar w1 =" g Rm ¥

(@) 14 (b) 16 (c) 15 (d) 18
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Study the following information and saswer the questicns. (58-60)

. A,B,C,D,E,F,GandH are & students having different heights.
il. D is shorter than A but taller than G
1. E is taller than H but shorter than C
iv. B is shorter than D but taller than F
v. Cis shorter than G
vi. G is not as tall as F

58. Which is true?

(a) G is shorter than F (b) C is shorter than F
(c) F is taller than C (d) All are true

59. If another student J who is taller than E and shorter than G is added to the group,
which of the following will be true?

(a) C and J are of same height (b) J is shorter than D
(c) J is shorter than H (d) J is taller than A

50. If the 8 students are arranged in descending order of height who will be the third one
from the top?

(a) B (b) F (©)G (d) E

General Knowledge on Veda,
Sanskrit and Indian Knowledge System

61. Which one of the following is incorrectly matched?

a) Samaveda - Knowledge of Science

b) Rigveda - Knowledge of Hymns of Praise

¢) Atharvaveda - Knowledge of Shanti and Paushtika Karma
d) Yajurveda - Knowledge of Sacrificial Formulae

62. Match the following.

(A) Prajnanam Brahma 1. Samaveda
(B) Aham Brahmasmi 2. Rigveda

(C) Tattvamasi 3. Atharvaveda
(D) Ayamatma Brahma 4. Yajurveda

(A A2 B4 C-1 D-3
(b) A4 B-2 C-3 D-1
(¢) A-1 B-2 C-3 D-4
(d A4 B-1 C-2 D-3
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ﬁa@sfﬁaam:r&mmmaﬁsﬁtmﬁ%wal(sseo)
i. A,B,C,D,E F G3dXH - 83/ 2 [FH Hug somae 8 |
ii. D, A | BEIE 3T G Y o 8
iii. E, Hd &1 g &% C 4 91 8
iv. B, D & BT & #f%7 F 4 w1 §
v. C, G A BRI E
Vi. G,Fﬁlﬁmmqﬁ%

58. HI |l KA 2 _
(@ G, F 94 BT 8 (b) C, F ¥ BT &
() F, C § ova & (d) oft g3 ¥

59. AR TF = B J, T E ¥ $H1 AR G ¥ B 2, F W § ST 90 &, A Prafstem
H ¥ w4 | 7 M2

(@) C ¥R J §9F &¥TE ¥ & (b) J, D 4 BT &
() J, Hd Bla1 & (d) J, A9 emEre
60. A% 8 BTHI H1 F9E F JTUA FH § sqareya fran Sran &, @ it & w219 20m

(a) B (b) F () G (d) E

93, HEFA AR ARG T9 990 $1 O 11

61. Frafsfem # & frae o™ Toa a8% ¥ fear o 32

a) 9% - fasm= #1 3=
b) FAg - wqfa et &1 aeE w1 9=
) ¥HYEA] - W T NP FH F Gl w1 9

d) 9495 - 9 Gl H 9H

62. frafsfem =1 e $t

(A) 9 & : 1. 9Hag
(B) 31§ wamfey : 2. WIag
(C) TRy 3. 3yyEag
(D) STIHHT & 4. 9%

(3 A2 B4 c1 D-3

(b) A4 B2 c-3 D-1

© A1 B2 c-3 D-4

) A4 Bi 3 D-3
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63. This is one of the surviving shakhas of Shukla Yajurveda in oral tradition

(a) Shakala Shakha (b) Madhyandina Shakha

(c) Taittiriya Shakha (d) Shounaka Shakha

64. Which one is NOT one of the chief Upanishads?
(a) Kena (b) Katha
(¢) Brhadaranyaka (d) Kaivalya
65. Which is one of the Vedangas?

(a) Agama (b) Nirukta (¢) Purana

66. Which is one of the eighteen Puranas?

(a) Skanda (b) Kapila (c) Varuna

67. To which text the title ‘Shatasahasrisamhita’ refers?

(a) Veda Samhita  (b) Kavya (¢) Mahabharata

68. How many Kandas are there in the Valmiki Ramayana?

(a) 6 (b) 8 (c)9

69. Which one is NOT the work of Kalidasa?

(a) Meghadutam

(b) Raghuvamsham

(c) Abhijnana Shaakuntalam
(d) Dasakumara Charitam

70. Match the foliowing

(A) Kalhana 1. Tilakamanjari
(B) Subandhu 2. Kadambari
(C) Banabhatta 3. Vasavadatta
(D) Dhanapala 4. Rajatarangini

(a) A-3 B-4 C-1 D-2
(b) A-4 B-3 C-2 D-1
(c) A-1 B-2 C-3 D-4
(d) A-2 B-1 C-4 D-3

June 2023

(d) Nikaya

(d) Narasimha

(d) Ramayana

(d)7
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63. 7% HIFErF TWI0 & [qF T8 F ST qaeti §  ww ¥ -

(a) ITHeT AT
(¢) afedfg @

64. I |1 G&I IS § § UH T &

(a) 9
(c) geaUTsH
65. AT § | TF B G2

(a) 3MMH (b) FE®

66. IWE GO § | TF B9 41 2

(a) Thg (b) U=

67. TaETEEERar e %1 AW ¥

(a) F=gfean (b) FTg

68. THIAY § fFaw FveE § 2

(a) 6 (b) 8

69. FNETH FT FT7 B |1 TG &2

(a) HogTH
(¢) IFH-IMFaSH

70. Fafsfem w1 fem w1

(A) SeRul
(B) gy

(C) =g
(D) 4491

(@ A3 B-4 C-1
(b) A-4 B-3 C-2
(c) A-1 B-2 C-3
(d) A-2 B-1 C-4

june 2023

(b) TeFTf=a= 3T
(d) T T

(b) F3
(d) Fao9

(c) 3UU

(c) 9%01

(c) HEM™MRd

() 9

(b) TgaTH
(d) RFHENTH

1. fiowasd
2. HEFEY
3. q9dadl
4. TR

(d) =

(d) R

(d) THEO

(d) 7
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71. Translate the foliowing Hindi Passage into English

gl ST AR AT I 7 Al AW WE $ TG | 39 BEH T8 T T4 | S
I T 96 F AN @ o 5 R e @ s T v, 6w W e A
T T T | I GE A g e A, 3 www v 9w w6 2 g
=i &1 TEE T R

p

72. Translate the following paséage from English to Hindi

The wind was very strong. It was so strong that it could blow anyone away. I had driven
back home just five minutes ago. It was dark all around. I heard someone’s footsteps. |
began to shiver with frar. Suddenly it seemed as if a human shadow tiptoed towards the
main door. Though it was terrifying I could face him courageously.
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71. Fafetem & waim w1 sgae sush | w3,

ISt X TS AT I & L Al I GE FS TGH | I FEH 98 IS 797 | SpA
3% T AG F E0 A€ o1 o6 o safe & SR U@ w39 QU AW AEEs
T FH T A1 | I FGR AW g e of, 3R 759 Aaew a7 16 R 5 g
=t F1 ft w7 2

72. Frefefem T + sgag oich 4 f&f § =
The wind was very strong. It was so strong that it could blow anyone away. I had driven
back home five minutes ago. It was dark all around. I heard sonieone's footsteps. I began
to shiver with fear. Suddenly it seemed as if a human shadow tiptoed towards the main
door. Though it was terrifying I could face him boldly.

June 2023 Page 23 of 28



Language comprehension

73. What is the synonym of CEASE?
(a) Seize (b) Stop (¢) Confess

74. What is the antonym of NOVEL?
(a) Old (b) New (c) Fresh

7577

(d) Chaste

(d) Original

Select the most appropriate option to substitute the underlined segment in the given sentence.

If there is no need to substitute it, select the ‘No improvement’ option.

75. I was astonished on the ignorance in the villagers.

a) over the ignorance between
b) at the ignorance of

c) on the ignorance by

¢) No improvement

76. The stranded pilgrims had waited in the bitter cold for more than two hours now

a) has been waiting
b) have been waiting
¢) have waiteq

d) No improvement

77. An increase in incidents of chain snatching has been reported in the newspapers recently.

a) has been written
b) have been reported
¢) are being reported
d) No improvement
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o i 9HY

73. What is the synonym of CEASE?
(a) Seize (b) Stop (¢) Confess (d) Chaste

74. What is the antonym of NOVEL?
(a) Old (b) Now (c) Fresh (d) Original

75-77

Select the most appropriate option to substitute the underlined segment in the given sentence.
If there is no need to substitute it, select the ‘No improvement’ option.

75. I was asionished on the ignorance in the villagers.

a) over the ignorance between
b) at the ignorance of

c) on the ignorance by

d) No improvement

76. The stranded pilgrims had waited in the bitter cold for more than two hours now

a) has been waiting
b) have been waiting
¢) have waited

d) No improvement

77. An increase in incidents of chain snatching has been reported in the newspapers recently.

a) has been written
b) have been reported
c) are being reported
d) No improvement
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78. VY T=T F1 TAHATH T T &2
(a) 4fd (b) g (©) T8 (d) &

79. 4 =2 w1 fom = T B
(a) € (b) &frw (c) T (d) G9&

80. “efi T # W ¥ | 98 FFE THR W AT (voice) ¥?
(a) T qT (b) HH I (¢) MTEAT= (d) T+t T&F

81. Jent Fifar weamT - ot T

(a) HNT T 9= (b) & 1 a1 3T G T &1
(c) 36T & I (d) = femm

82. FYARF F1 T&T TG T 7

(a) AT {91 =T 1 BT

(b) @&F 9T T F T

(c) |TT R #&q TaTeii 0 FH 2T
(d)émﬁwa&umeﬁwﬂ#ﬁ@ﬁwméﬂr

oo ol o,
w W
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78. ‘YT 5T F1 GATA T T L2
(a) g (b) | (c) 92 (d) g™

79. A T2 T AW T w2
(a) iR (b) Afses (¢) FT (d) 9=

80. “uali 7ra § WA ¥ | 72 FEW THR FT AT (voice) B

(a) T AT (b) HH AT (¢) FTHET= ) 9 FF 75

81. Seeft R wesmn - o &2

(a) @ & GEAH (b) & i 9149 X § AW o1
(¢) TR H IEAT (d) = fe@mT

82. JTARE 1 G&q U F1 82

(a) |G M1 =T O BT

(b) @&F T9T =T 1 &1

(c) BT IR F&F HIAT 1 0 &0

(d) | AR eg vTwreil AR IThT GEH B F9 T

*
*
%
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